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B\ 1T H 266 275 303 578|T » WHHT5 T H 539 556 537 1,093 % BT 7 T H 1,254 1,542 1,403 2,945 |[f AHT3 T H 224 259 224 483
B W 2T H 362 350 365 715|F 4~ WEHT6 T H 389 385 415 800|#r BT 8 T H 548 640 636 1,276/ | 4,702 5,051 5,096| 10, 147
B W 3T H 286 329 314 643 =t 9,614| 10,041 9,876| 19,917(% BT 9 T H 1,334 1,371 1,133 2,504 —{RE1TH 94 100 95 195
1T A 148 147 138 285 |1k e 598 649 659 1,308|K K BT 1 T H 114 97 104 201| —{#E2TH 331 370 367 737
2 T A 105 88 83 1718 E BT 1 T H 344 404 388 792|K S BT 2 T H 516 542 525 1,067| ~{RE3 T H 284 308 320 628
7 e 3T A 134 154 174 328|% L ET2 T H 638 661 674 1,335 =t 9,569| 10,654 9,766 20,420 " {%E4T H 127 116 125 241
£ L HT 274 247 263 510|%F L BT 3 T H 1,581 1,475 1, 408 2,883 |{/ W BT 1 T H 809 825 845 1,670| —{®E5 T H 91 108 100 208
%S My 445 426 430 856 (% L BT 4 T H 795 783 763 1,546 |{rf D BT 2 T H 308 349 317 666 1 T H 88 70 73 143
fip T 209 201 199 400k M 1 T H 821 921 857 1,778 JO BT 3 T H 240 257 256 513[R- # 2 T H 113 119 117 236
s My 128 105 119 224k M 2 T H 343 399 409 8083 L M 4 T H 763 690 682 1,372k # 3 T H 122 119 102 221
& K Wy 176 207 198 45|k M 3 T H 747 852 892 1,744 (] S0 BT 5 T H 745 715 717 1,432 |8 & A HT 163 148 166 314
#o1m My 417 407 434 841 |4 A 463 432 525 957 L M6 T H 1,223 1,238 1,249 2,487\ & 1 T H 50 40 39 79
X 7 WA Wy 503 522 520 1,042 |4 g 480 550 547 1,097 {r[ B BT 7 T H 1,153 1,040 1,121 2,161 & 2 T H 69 64 60 124
W/ Lk omy 310 286 293 579K B F1 T H 276 318 314 632\ L mT8 T H 811 833 745 1,578 & (L 40 58 66 124
KB HT 504 503 511 LO4|K % F 2T H 276 349 335 6843 L BT 9 T H 976 821 930 1, 751 |/ G 1,572 1, 620 1, 630 3, 250
HimFnMELT H 205 194 201 395|4 s 1 T H 613 823 798 1,621 (] :DET10 T H 957 795 772 1,567 | [ 1 T H 301 228 243 471
HimFnmE2T H 254 257 266 52314 ¢ 2 T H 144 198 194 392 7t 7,985 7, 563 7,634| 15,197|= M 2 T H 85 88 83 171
HimF1ME3T H 310 367 359 72614 ¢ 3 T H 389 517 447 964k & L T H 186 189 203 392|% [ 3 T H 193 155 135 290
it 5, 036 5, 065 5,170| 10,235(4 ¢ 4 T H 625 756 711 1,467k # 2 T H 1, 049 1,265 1, 204 2,469/ K1 T H 100 100 102 202
B KB 1T H 235 269 266 5354 ¢ 5 T H 540 646 679 1,325\ # 3 T H 375 401 420 821/N&K2T H 44 49 50 99
) ARBT2T H 365 378 362 740 E 9,673 10,733| 10,600 21,333|4 H 1 T H 1,391 1,437 1, 469 2,906/ K3T H 171 184 193 377
B K BT 3T H 210 240 257 4973 F M 1 T H 491 424 496 92014 2 T H 1,074 1,079 1, 140 2,219/ & K4T H 213 149 211 360
E W 1T H 715 668 679 L34T| R & #E2 T H 823 763 783 1,546|4 ¢ 3 T H 877 951 911 1,862|/h& AR5T H 76 78 84 162
E W 2T H 737 811 820 1,631\ & #E3 T H 1,136 1,082 1, 109 2,191|14 # 4 T H 0 0 0 OJE W1 T H 258 175 218 393
E W 3T H 403 482 464 946 (3 F M4 T H 794 674 673 1,347\ 5 T H 168 53 140 193|227 H 245 265 247 512
EW4aT H 800 790 875 1,665 |# & #E 5 T H 1,034 935 1,009 1,944 B 5,120 5, 375 5,487 10,862|% R 3 T H 224 165 198 363
E W5 T H 520 501 527 1,028\ # #E 6 T H 397 428 386 814 /) & 55,006 56,988| 56,290 113,278/ | 1,910 1,636 1, 764 3, 400
E W 6 T H 218 212 234 4461k » M1 T H 402 403 410 813/ 1 T H 347 395 352 T47|R K 1 T H 203 160 209 369
E W 7T H 495 497 418 9151k » M 2 T H 760 615 742 1,357/ 2 T H 403 426 435 861|pk A 2 T H 216 213 159 372
E W 8 T H 283 302 287 589 (A [ BT 1 T H 341 397 377 T4 3 T B 448 490 482 972|pk A 3 T H 100 111 107 218
E W9 T H 4 4 4 8|fifi [ BT 2 T H 766 830 821 1,651 (Fn HET1 T H 208 230 223 453|fk A 4 T H 57 50 49 99
K HEET1T H 311 317 305 622|Ffi [d BT 3 T H 608 597 551 1, 148(Fn H BT 2 T H 292 294 312 606|pk A 5 T H 78 70 68 138
K HEET2T H 324 300 288 588 |ffi ] B 4 T H 457 409 400 809t 48 1 T H 179 220 214 434|pk A 6 T H 36 42 35 77
K HET3T H 336 380 352 732 Rl 8, 009 7,557 7,757| 15, 314|HE 46 2 T H 201 213 244 457|f A 7 T H 64 69 66 135
K HBTAT H 313 369 359 728|% BT 1 T H 1,234 1,382 1,341 2,723(M # 3 T H 187 210 206 416|pk A 8 T H 90 102 76 178
K HHET5 T H 317 353 344 697|%1 BT 2 T H 881 986 857 1,843 4 %6 4 T H 232 259 252 511 |/ G 844 817 769 1, 586
T WEHT L T H 652 677 688 1,365\% AT 3 T H 1, 555 1,618 1,478 3,096 (#E 4 5 T H 539 604 658 1,262 |t 8% Fr & &t 9,028 9,124 9,259 18,383
T WEHT2 T H 553 568 574 L142\% BT 4 T H 737 773 780 1,553 4 %6 6 T H 561 646 575 1,221|& 7t 64,034 66,112| 65,549| 131,661
T WEHT3 T H 414 496 413 909(%r BT 5 T H 1,295 1,577 1,394 2,971 M AR BT 1 T H 361 400 394 794
T WEHT4 T H 481 486 408 894(%r BT 6 T H 101 126 115 241|#h AR BT 2 T H 520 405 525 930




